
Internal Security

The mismatch between what the defence force demands and the actual
allocations made stands as the major barrier restricting modernisation and as
well as current operational readiness of the force. What should be done to resolve
this contradiction? (200 words)
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Refer – The Hindu 
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Enrich the answer from other sources, if the question demands.
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https://www.shankariasparliament.com/
http://www.thehindu.com/opinion/lead/to-be-fighting-fit/article23295784.ece
https://www.shankariasparliament.com/

